

$(a-n) f^r (a+n) f^z = (a-n) f^r (a+n) f^z$
 $\Rightarrow \int_{a-n}^{a+n} f^r(x) f^z(x) dx$
 yes, the answer is correct.

$\lim_{x \rightarrow 0} \frac{f(x) - f(0)}{x - 0} = f'(0)$
 $\lim_{x \rightarrow 0} \frac{f(x) - f(0)}{x - 0} = f'(0)$

$\lim_{x \rightarrow 0} \frac{f(x) - f(0)}{x - 0} = f'(0)$
 $\lim_{x \rightarrow 0} \frac{f(x) - f(0)}{x - 0} = f'(0)$

$(a-n) f^r (a+n) f^z = (a-n) f^r (a+n) f^z$

(a-n) f^r (a+n) f^z = (a-n) f^r (a+n) f^z
 yes, the answer is correct.

$(a-n) f^r (a+n) f^z = (a-n) f^r (a+n) f^z$

(a-n) f^r (a+n) f^z = (a-n) f^r (a+n) f^z
 yes, the answer is correct.

yes, the answer is correct.

$(a-n) f^r (a+n) f^z = (a-n) f^r (a+n) f^z$

yes, the answer is correct.

yes, the answer is correct.

$(a-n) f^r (a+n) f^z = (a-n) f^r (a+n) f^z$

$(a-n) f^r (a+n) f^z = (a-n) f^r (a+n) f^z$

$(a-n) f^r (a+n) f^z = (a-n) f^r (a+n) f^z$

$(a-n) f^r (a+n) f^z = (a-n) f^r (a+n) f^z$

$(a-n) f^r (a+n) f^z = (a-n) f^r (a+n) f^z$

$(a-n) f^r (a+n) f^z = (a-n) f^r (a+n) f^z$

$(a-n) f^r (a+n) f^z = (a-n) f^r (a+n) f^z$

$(a-n) f^r (a+n) f^z = (a-n) f^r (a+n) f^z$

$(a-n) f^r (a+n) f^z = (a-n) f^r (a+n) f^z$